

John E. Manning District One

August 17, 2018

(239) 533-8881

Cecil L Pendergrass District Two

Larry Kiker District Three

Brian Hamman District Four

Frank Mann District Five

Roger Desjarlais County Manager

Richard Wm. Wesch County Attorney

Donna Marie Collins Hearing Examiner Ms. Teena Zielinski P & T Lawn & Tractor Service 15980 Old Olga Road Alva, FL 33920

SUBJECT: B-130037 Mowing - Parks

ENCLOSURES: Lee County Sports Complex and Preserves Estimate #11379

Dear Ms. Zielinski:

The County has received your estimate for mowing for the Lee County Sports Complex and the 20/20 Preserve Areas. The County agrees to add these additional services/locations to Bid No. B-130337 and accepts the quote attached. This will be on an as needed basis, by location and service, for mowing and landscaping as requested by the Parks and Recreation Department.

Sincerely

on behalf of Mary G. Tucker, CPPB, CPPO

Director of Procurement Management

c: FinanceOnBase@leeclerk.org

Cindy Mitar Project File

### P & T Lawn & Tractor Service, Inc.

### 15980 Old Olga Road Alva, FL 33920

### **Estimate**

Date	Estimate #	
8/16/2018	11379	

Name / Address	
Lee County Finance Department Post Office Box 2238 Fort Myers, FL 33902	

Ship To			
Preserve Facilities 20/20			

Description	Qty	Rate	Total
Services as follows for the 20/20 Preserves from August 20, 2018 to September 28, 2018:		0.00	0.00
Mowing of Caloosa Creek Preserve East	3	95.00	285.00
Mowing of Caloos Creek Preserve West	3	75.00	225.00
Mowing of Caloosa Creek Preserve Lots 1 &2	3	250.00	750.00
Mowing of the East River Loop Trail	3	250.00	750.00
Mowing of the estra 4 acres at Galt Preserve	3	300.00	900.00
Mowing of the Daniels Preserve	3	75.00	225.00
Mowing of the Alva Scrub Creek Preserve	3	75.00	225.00
Mowing of the Buckingham Trails Preserve	3	25.00	75.00
Mowing of the Powell Creek Preserve	3	75.00	225.00
Mowing a swipe on either side of the trail at Powell Creek Preserve	. 1	100.00	100.00
String Trimming at Powell Creek Preserve	2	100.00	200.00
Mowing of Prairie Pines Preserve	. 3	50.00	150.00
Mowing of Telegraph Creek Preserve	3	75.00	225.00
Mowing of Telegraph Creek Preserve- Argo Entr	. 3	75.00	225.00

Accepted by: Total

Phone #	Fax#	E-mail
239-707-4611	239-694-4848	ztepet@comcast.net

### P & T Lawn & Tractor Service, Inc.

15980 Old Olga Road Alva, FL 33920

## **Estimate**

Date	Estimate #
8/16/2018	11379

Name / Address
Lee County Finance Department Post Office Box 2238 Fort Myers, FL 33902

Ship To	
Preserve Facilities 20/20	
-	

Description	Qty	Rate	Total
Mowing of the Wild Turkey Strand Preserve	3	95.00	285.00
	ж Ж		
		ji	
		,	
	v e		
	4		
	, , , , , , , , , , , , , , , , , , ,		
, 1		-	
Accepted by:		Total	\$4,845.00

Phone #	Fax#	E-mail
239-707-4611	239-694-4848	ztepet@comcast.net

#### P & T Lawn & Tractor Service, Inc.

#### 15980 Old Olga Road Alva, FL 33920

### **Estimate**

Date	Estimate #	
8/16/2018	11378	

# Name / Address Lee County Finance Department Post Office Box 2238 Fort Myers, FL 33902

Ship To Centurylink Sports Complex Lee Co Sports Stadium 14230 Ben C Pratt/Six Mile Cypress Pkwy Fort Myers, FL 33912

Description	Qty	Rate	Total
Landscape maintenance and mowing as follows from August 20, 2018 to September 28, 2018 at the Centurylink Complex:		0.00	0.00
Weed Control of the Complete Complex	3	1,485.00	4,455.00
Pruning of the Complete Complex	3	4,050.00	12,150.00
Mowing of the Complete Complex	6	850.00	5,100.00
			*
		¥	
			,
		ė.	
	85		
	·	И	ž.
		*	
Accepted by:		Total	\$21,705.00

Phone #	Fax#	E-mail
239-707-4611	239-694-4848	ztepet@comcast.net